
@mathsbyanjan
@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan



@mathsbyanjan
@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

Read each sentence to find out whether there is any 

grammatical error in it. The error, if any, will be in 

one part of the sentence. Mark the part with the 

error as your answer. If there is no error, mark ‘No 

error’ as your answer (Ignore the errors of 

punctuation, if any).
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One of the players against (A)/whom an 

alleviation was made, (B)/an England 

international, is (C)/understood to be 

claiming he has an alibi (D).

1. One of the players against

2. whom an alleviation was made

3. an England international, is

4. understood to be claiming he has an 

alibi

5. No error
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The other route would (A)/see the fruits of 

eight years (B)/of growth whither on the 

vine (C)/through inaction and lack of 

imagination (D).

1. The other route would

2. see the fruits of eight years

3. of growth whither on the vine

4. through inaction and lack of imagination

5. No error
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While the fashion world veiled (A)/about the 

effect of the (B)/collapse of the economy on 

retail, (C)/she briskly assumed the leadership 

role (D).

1. While the fashion world veiled

2. about the effect of the

3. collapse of the economy on retail

4. she briskly assumed the leadership role

5. no error
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This was an illusion to the most (A)/infamous 

murder committed by (B)/the two anti-

heroines of the book (C)/as they are on the 

run through France (D).  

1. This was an illusion to the most

2. infamous murder committed by

3. the two anti-heroines of the book

4. as they are on the run through France

5. No error
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Seven statements are given below, which 

are jumbled in any random order. Only the 

sixth statement (f), which has been 

emboldened, is in its correct place. These 

statements will form a coherent and 

meaningful paragraph, when arranged in 

the correct sequence. Arrange the 

sentences in the right order and answer 

the questions that follow.
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(a) The scams often arrive as pop-up notifications alerting users 

of a compromised network.

(b) Tech support scams have become a popular phishing 

method, according to security firm Norton LifeLock.

(c) Moreover, the alerts are cleverly disguised using major tech 

companies, the report noted.

(d) As an example of these other targeted attacks, they mention 

a new phishing campaign that has been specifically designed to 

obtain gaming players’ login credentials and two-factor 

authentication information with the intent to steal and sell rare, 

high-value virtual items like gaming goods.

(e) It said, it has blocked more than 12.3 million tech support 

URLs for 13 consecutive weeks between July and September 

this year.
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In the given passage, there are blanks, each of 

which has been numbered. Against each five 

words are suggested, one of which fits the 

blank appropriately. Find out the appropriate 

word in each case.
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While workers in India’s organised sector 

enjoyed, in theory, __(1)__ rights and 

privileges, very few establishments accorded, 

in practice, such rights and privileges, and 

these are virtually non-existent in the vast 

informal sector. The present code seeks to 

__(2)__ all employment by recognising fixed-

term contracts, and by defining industry as 

any systematic activity carried on by __(3)__ 

between the employer and workers for the 

production, supply or distribution of goods or 

services. This is welcome. It provides for 

minimum dues for retrenched workers, treats 
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While workers in India’s organised sector 

enjoyed, in theory, __(1)__ rights and 

privileges, very few establishments accorded, 

in practice, such rights and privileges, and 

these are virtually non-existent in the vast 

informal sector. 

Choose the most appropriate word blank 1

1. Big

2. Extended

3. Extensive

4. Huge

5. None of these
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The present code seeks to __(2)__ all 

employment by recognising fixed-term 

contracts, and by defining industry as any 

systematic activity carried on by __(3)__ 

between the employer and workers for the 

production, supply or distribution of goods or 

services. 

Choose the most appropriate word blank 2

1. Distribute

2. Formalise

3. Informal

4. Expand
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The present code seeks to __(2)__ all 

employment by recognising fixed-term 

contracts, and by defining industry as any 

systematic activity carried on by __(3)__ 

between the employer and workers for the 

production, supply or distribution of goods or 

services. 

Choose the most appropriate word blank 3

1. Engagement

2. Introduction

3. Recognition

4. Cooperation
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This is welcome. It provides for minimum 

dues for retrenched workers, treats 

termination of employment as an industrial 

__(4)__ and creates a reskilling fund. 

Choose the most appropriate word blank 4

1. Subject

2. Dispute

3. Arraignment

4. Implication

5. None of these
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It makes it __(5)__ for establishments to give 

first preference to retrenched workers while 

rehiring. 

Choose the most appropriate word blank 5

1. Obligatory

2. Operational

3. Unnecessary

4. Unimportant

5. None of these
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In each question below, a sentence is given 

with a part of it printed in bold type. That part 

may contain a grammatical error. Each 

sentence is followed by phrases 1), 2) and 3) 

and 4). Find out which phrase should replace 

the phrase given in bold to correct the error, 

if there is any, and to make the sentence 

grammatically meaningful and correct. If the 

sentence is correct as it is and ‘No correction 

is required’, mark 5) as the answer.
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After a lengthy heated argument, the 

official left the meeting on a huff.

1. Over a huff

2. In a huff

3. At a huff

4. With a huff

5. No correction required
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The audience instantly broke in as soon as 

the comedian started cracking jokes.

1. Break in

2. Broke on

3. Broke up

4. Break down

5. No correction required
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Shweta just cut in when the teacher was busy 

demonstrating a very important topic through a 

practical.

1. Cut off

2. Cut on

3. Cut over

4. Cut aside

5. No correction required



@mathsbyanjan
@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

The couple which was together for almost 10 

years decided to get a divorce, as they could not 

put up on each other anymore.

1. Put over on

2. Put out with

3. Put along with

4. Put up with

5. No correction required
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Thank You
धन्यवाद


